ASTR 4080 - Week 2

Begin by asking: what is an inertial frame?

ANS: F=ma is true

$$F = ma = m \frac{dv}{dt^2}, so if r = v_o - vt$$

$$\frac{dv}{dt} = -v / \frac{d^2r}{dt^2} = 0$$

$$F = 0 \quad \text{if } v = v_o - vt$$

t, >to x'=0 -> x2x'+A $x = vt \rightarrow (x = x' + vt)$ Key difference in SR is that laws must be sane, which wears Maxwell's Eq. hold by jusisht is that a most be same in both frames Q E=0, lary turns on, so BUTH frame see light sphere expand @ speed c $\frac{2}{2} = x^{2} + 7^{2} + 2^{2}$ $\frac{2}{2} = x^{2} + 7^{2} + 2^{2}$

Postalate some factor: x'= Y(v)(x-vt) $c^{2}t^{2} = x^{2} + \cdots$ $c^{2}t^{2} = x^{2} + \cdots$ $(2+i^{2}-1)^{2}(x-v+1)^{2} = (2+i^{2}-x^{2})^{2} + \cdots$ $(2+i^{2}-1)^{2}(x-v+1)^{2} = (2+i^{2}-x^{2})^{2} + \cdots$ $(2+i^{2}-1)^{2}(x-v+1)^{2} = (2+i^{2}-x^{2})^{2} + \cdots$ $(2+i^{2}-1)^{2}(x-v+1)^{2} = (2+i^{2}-x^{2})^{2} + \cdots$ $f^{2} = f^{2} - \frac{x^{2}}{c^{2}} + \frac{y^{2}}{c^{2}} (x - vt)^{2}$ $= \frac{1}{2} \left[1 + \frac{\sqrt{2} + \sqrt{2}}{\sqrt{2}} \right] - 2 \frac{\sqrt{2}}{c^{2}} + \frac{2}{\sqrt{2}} \left[\sqrt{2} + \frac{2}{\sqrt{2}} \right]$ Complicated, at this paint suess & so that egration car le factured my le t' = Vt g(v, x, t) $+ \sqrt{2} = \left\{ \sqrt{2} \left(\frac{1}{f^2} + \frac{\sqrt{2}}{c^2} \right) - 2 \times \sqrt{4} \right\}$ $+\frac{\times}{c^2}\left(\left[-\frac{1}{2}\right]\right)$ guess that g(v,x,t) = £ ±... vant 1/2 + 1/2 = 1

if
$$\frac{1}{r} + \frac{v^2}{c^2} = 1$$
, then

$$Y^2 = \frac{1}{1 - v^2/c^2} = \frac{1}{r^2} \int_{-\infty}^{\infty} \int$$

SLIDES

null scodesic: c2df2=alf)2dr2 so $c \frac{dc}{dcf} = dv$ can integrate this to get the distance blt us ta salary @ 2 times, -/ St - B so listance of = vz consider a wave of light:

to the compute waveleyth to

Q to (when observed)

C to the left

C to to to locate

C to to locate

C to to to locate

C to locate -> can't intervate over alt), ble re don't know its funchional form Subtract Stathelealt Siles Show Dt very short, a(f) - const.

$$\frac{1}{a(t_e)} \int_{t_e}^{t_e + h_e/c} dt = \frac{1}{a(t_e)} \int_{c_e}^{t_e + h_e/c} dt$$

$$\frac{\lambda_e}{\lambda_e} = \frac{\lambda_e}{\lambda_e} \int_{a(t_e)}^{t_e} dt$$

$$\frac{\lambda_e}{\lambda_e} = \frac{\lambda_e}{\lambda_e} \int_{a(t_e)}^{t_e} dt$$

$$\frac{\lambda_e}{\lambda_e} = \frac{\lambda_e}{\lambda_e} \int_{a(t_e)}^{t_e} dt$$

$$\frac{\lambda_e}{\lambda_e} = \frac{1}{\lambda_e} \int_$$